yelaeq ueeheiquiad
uelenpbuaq ueyegniaq uesebbuy eld)y euedusy uepury

C°€ AdAS dVY

yelaeq ueeAelquiad
ueewsUsd ueyeqniad uelebbuy e[y euedusy uepury

T°€ Ad)S dVid

yeltaeq 1eybueiad el1ay uenjes uejelbay] 194 uep weibold
bunsbue eluejag ueyeqniad uelebbuy elioy euedusy uepury

1°C°C AdAS dVIY

yelaeQq
12buelad elioy uenjes uejeibay uep welboid Jninuaw bunsbuen
elueag ueyeqnidd uelebbuy el1dy euedudy Isenjideyoy

C°C dd)S dWIY

yesaeq 1eybueiad el1ay uenjes bunsbue
yepll eluejag ueyeqniod uelebbuy eliay euedusy uepury

T°C Ad)S dY I

yesaeq 1eybueiad eliay|

uenjes uejedepuad ueyeqniad uetebbuy eliay eueduay uepury T ad)is dWiy
yelaeq 1eybueiad
e(19y uenmes ueyeqniad uelebbuy elioy euedudy ueseybury adis dwvid
AITNINYOL VINVYN Jaoi

9T0C NVIVOODNVY NNHV1

HVY3VA LVANVY NVIINVMYU3d NYMAA

(ad)s dwmiy )

HYY3VA LIDNVUAd VOLIIN NVNLVS
NYHVENU3Id NVIVOONY VL[IIN VNVONIY

MAVAAVLNVYE V1O HVYLNIY3IWAd

[n¥vayvrNva|




Ri] palld

T ueweleH AdYS dvHiY lnuiioy
900 T €0686T ¢0TTH96T "dIN
W ‘IDINVIN INVA 'V "sid
Qida SNAV.IIAN3AS
00'0 00'0 00'0 00'0 00'0 ueeAeiquiad ueenjpbuad [
000 000 000 000 000 ueeAeiquiad ueewtiauad T'e
000 00'0 00'0 00'0 00'0 Bunsbuet efuepg | z'¢
0089Z°8%C'C¥0'8 00000845 °26€ 00°000'v+9°€2L'C 00°000°692'S6L'T 00892°£8L°0ET'E Bunsbue sepi eluejsg 1°¢C
000 000 000 000 000 uejedepuad T
L 9 S v € [4 T
HYTIWNC AI 111 II I
NVIVIN 'ON
NVINMIYL
NYTINMIYLY3Id HYVY3VA LY)IONYUId VOAIN NVNLYS NYAVYOONY NYHVENU3d NVVYNVYSIHV13d YNYONIA
§6'9 (000007005 °22S) (00'892°8+C'TH0'8) (00'892°8+2°615°L) (11S143Q) / SN1dins
§6'9 00°000°005°2¢S 00'89¢'8vC'CH0'8 00892°8bL'615°L lemebad efuejeg S
56’9 00°000°005°22S 0089Z'84C'C¥0'8 00892°8bL'61S"L DNNSONV1 MVAIL VLNV13g 'S
56’9 00°000°005°22S 00892°84C'C¥0'8 00892°8bL'61S"L VINV13g S
9 S v € [4 T
ueyeqn.aad ueyeqn.aad
% (dy) yejoles wnjaqges
SNININIY
(bueamyjiag) (dw) yejwnc NVIVIN 3003
/yequelriag
HYY3VA LV)ONVYYId VLAIN NVNLYS NYHVYENU3d NVIVOONY VOIIN VNVINIY NVSYIODNIY
HYJ3IVa LYAIVY NVIIIVMYId NYMId T0°10°0C" T * IsesiuebiQ yun qns
HYJ3IVA LYAIVY NVIIIVMY3d NVYMId 0°0C°T = isesiuef.10 yun
ueiemebaday ‘yesseq jexbueiad ‘egnay wpy ‘wnuwn ueyejuswad ‘yesseq 1wouoliQ 0¢ ' T : ueyejuLdwdd buepig
qifepn uesnun T @ ueyejuLdwad uesnifn
910z uesebbuy unyel
MAVEIVINVYE V10X HVLNIY3IW3d
adis dvnd HYJd3vAa LWIDNVYIId VI3 NVNLVS
Jdljnw.iod NVYHVYENU3d NVAVOONY VLAIX VNVONIA NVSYIODNINY ¢
[nuvauvrNval




